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EC 231

Spring 2016
Homework #1

___________________________________________________________________

Answer both questions. Make sure you show your work.
1. If a unit of resources is defined as 5 machines and 10 workers, then that unit of resources can produce the following output in the U.S. and Mexico:







U.S.


Mexico





Petroleum
600 Barrels 

400 barrels





Textiles
200 Yards

300 Yards

a. 
Which Country has an absolute advantage in which product?

b. 
Calculate the opportunity cost of production of each product in each country.

a. Which country has the comparative advantage in each product?


c.   
Suppose Mexico devotes 100 units of resources to the production of these two 


goods, 50 to petroleum and 50 to textiles.  The U.S. also uses 100 units of 



resources to produces these products, 50 to petroleum and 50 to textiles.



i.
What is total “world” output?



ii.
What is output under specialization? Show both countries can be made 



better off.
2. The U.S. and Japan could be characterized as natural resource-rich and resource-poor, respectively. Conversely, Japan could be regarded as capital-rich in relation to the U.S. If agricultural goods utilize primarily natural resources, and machinery is made primarily through capital goods, then:
a. Draw a PPC for both the U.S. and Japan

b. Indicate several points of production under autarky. What do we know about the opportunity cost of each product in each country?

c. Add a relative price line to each graph. Indicate the level of production in Japan, and demonstrate that Japan is made better off through trade.

